MATHS CLASS X
Continuation of Chapter 4 ( LINEAR INEQUATIONS)

General direction for the students :-Whatever be the notes provided , everything must be copied in the Maths Copy and
then do the Home work in the same Copy.

EXERCISE 4
Q4. 30 —4(2x—1) < 30, given x is a positive integer
=>30-8x+4 <30
= -8x < —4
= 8x > 4 Note the step.
= x> % , given x is a positive integer

Solution set={1,2,3,....cccccecerureur.... }

Q10. Solve 2x — 3 < 3 ,given A={x:xel,—4 < x < 4}
=>2x<6
>x<3, A={-4,-3,-2,-1,0,1,2,3,4}

Solution set={-4,-3,-2,-1,0,1,2}

Q11. Solve %+8x >5x—§ , X&Z

::~8x—5x>—%—l

N

=>3x > -2
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:>x>—§ X EZ

=>x>-0666.. ,xcZ

Solution set={0, 1,2, 3, ......c....... }
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Q13. Solve—ZSE—Z—xslE ,XEN
2 3 6
:—23%—%’{ note the step :%—?Slg note the step
N _2S3—4x - 3—4xSE
6 6 6
=>-12<3—4x =23 —-4x <11
= —15 < —4x = —4x < 8
= 15 > 4x note the step = 4x > —8 note the step
LSy =>x > —2
=
=>3-=>x
4
>-2<x<32, xeN
Solutionset={1, 2,3}

A

:>—2§Sx+§ note the step :>x+§<3+§

=>—§—1SX zx<3+l_l
3 3 3 3

>-3<x =>x <3

note the step

5>-3<x<3 ,xeR
Solution set={x: —3<x<3,xeR} notethestep
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Q30. Solve —2 + 10x < 13x+ 10 < 24 +10x ,xeZ

= —-2+10x <13x+ 10 = 13x+10< 24 + 10x
= -2-10<13x— 10x =13x—10x < 24 —-10
= —12 < 3x =>3x <14
=>—4=<x >x < 42

3

:>—4Sx<4§ X EZ
Solution set={-4,-3,-2,-1,0,1,2,3,4}

Q33. —3x+4<2x—3,xeNand 4x—5< 12 ,xsW
1%t part
>—-3x—2x<-3-4
= -5x < -7
=5x>7
=>x>1§ ,XEN
Solution set P={2,3,4,5,----------- } (D
2nd part
dx —5<12,xsW
=>4x < 17
=>x<4i ,xeW

Solution set Q={0,1,2,3,4} ----------=--=--==-mmmmm oo (2)



O PNQ=1{2,3,4} (i)Q — P = {0,1}

Chapter 4 is completed.



